NATIONAL 5            UNIT 3            practice NAB 2               Marking Scheme
Main points which demonstrate the achievement of the assessment standards

Points of reasoning are marked # in the table.

	Question
	Main points of expected responses

	
	Main point of process/ accuracy/ strategy/ explanation
	Illustrative example

	
	Assessment Standard 1.1


	

	Q1
	Ans:      132 m²                2 marks
(1 
substitute into formula

(2 
correct answer


	(1
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132.1… m2      rounded to    132 m2

	Q2
	Ans:      21.53 miles         4 marks

(1
use correct formula

(2 
substitute correctly

(3 
process to t2

(4
take square root 
	(1
selects cosine rule

(2    
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(3
t² = 463…
(4
21.53 miles (rounding not required)



	
	Q3 Assessment Standard 2.1 also 


	

	Q3
	Ans:         154°            #1, 2 marks

#2.1 uses correct strategy

(1
finds angle W

(2
states bearing from Angel
	#2.1 
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then valid steps below

(1
26.2(
(2
154( (rounding not required)



	
	Assessment Standard 1.2


	

	Q4
	Ans:      diagram            3 marks

(1 
Draws 3u 
(2
Applies head-to-tail method when adding 4v
(3
Draws resultant from tail of 3u to head of 4v 


	

3
u
4
v






	
	
	

	Q5
	Ans:      (72, 72, 81)            1 mark

(1
correct point


	(1
(72, 72, 81)



	Q6
	Ans:    
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                   2 marks

(1
add to get resultant

(2
correct addition
	(1
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	Assessment Standard 1.3


	

	Q7
	Ans:      
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                3 marks

(1
correct scalar multiplication then addition

(2
calculate magnitude


(3
correct answer
	(1
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	Q8
	Ans:      £11670.66            3 marks

(1
start calculation

(2
process calculation

(3
correct answer

Note:
repeated subtraction method can be used 


	(1
0.89
(2
 £18600 × 0.894  
(3
£11670.06
      equivalent

	Q9 


	Ans:    8 
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                  2 marks

(1
area calculation


(2
correct answer


	(1
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	Assessment Standard 1.4

Q10 Assessment Standard 2.1 also


	

	Q10
	Ans:      £22          #1 , 1  mark
#2.1
appropriate strategy

(1
correct answer


	#2.1    h - 0.2 h = 17.60   
      or         80% = 17.60
(1£22 


	
	
	


	
	Q11 Assessment Standard 2.2 also
	

	Q11 (a)

       (b)
	Ans:     
[image: image17.wmf]x

= 7, s= 3.96           4 marks

(1
mean 

(2
calculates [image: image19.png](x—x)*




(3
substitute into formula

(4
correct standard deviation

Ans:      valid statements         #1 mark

#2.2 Compares mean and standard deviation in a valid way for data


	(1
49 ÷ 7 = 7 
(2
36, 0, 49, 4, 0, 1, 4
(3
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(4
3.96 (rounding not required) 

(Equivalent calculations can be used)


#2.2 eg The mean under the new coach is higher, therefore the team are scoring more points
and


        New coach is more consistent because standard deviation is less

	
	Assessment Standard 2.2 also
	

	Q12 (a)

       (b)

       (c)
	Ans:   Gradient = 2.4,    
            y-intercept = 29          3 marks

(1
chooses 2 distinct points and substitutes into gradient formula

(2
calculates gradient

(3
 finds intercept

Ans:      C = 2.4M + 295            1 mark

(4
writes down equation

Ans:      £355                           #1 mark

# 2.2 estimate cost using formula


	(1
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  , (10, 320), (22.5,350)
(2
m = 2.4, 
(3
c = 295  (approximately by calculation or from graph)

(1
C = 2.4M + 295     (or equivalent)

          y = 2.4x + 295
#2.2   = 2.4 × 25 + 295 = 355
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